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1. Find	the	LCM	of{6,4}
(i) 14 (ii) 9 (iii) 12 (iv) 13 (v) 11

2. Find	the	LCM	of{10,9}
(i) 87 (ii) 91 (iii) 90 (iv) 89 (v) 93

3. Find	the	LCM	of{4,10,8}
(i) 40 (ii) 41 (iii) 38 (iv) 39 (v) 43

4. Find	the	LCM	of{9,4,12,8}
(i) 73 (ii) 72 (iii) 71 (iv) 74 (v) 70

5. Find	the	LCM	of{40,60}
(i) 121 (ii) 120 (iii) 118 (iv) 119 (v) 122

6. Find	the	LCM	of{120,200}
(i) 602 (ii) 600 (iii) 601 (iv) 598 (v) 599

7. Find	the	LCM	of{16,88,152}
(i) 3345 (ii) 3344 (iii) 3342 (iv) 3343 (v) 3346

8. Find	the	LCM	of{90,120,390,540}
(i) 14040 (ii) 14042 (iii) 14037 (iv) 14039 (v) 14041

9. The	common	multiples	of	9	and	3	=
(i) {9,18,27,36,45,54,63,72,81,90,99,108,16} (ii) {9,18,27,36,45,54,63,72,81,90,99,108,117}

(iii) {9,18,27,36,54,63,72,81,90,99,108,117,314} (iv) {9,18,27,36,45,54,63,72,81,90,108,117,361}

(v) {9,18,27,36,45,54,63,72,81,90,99,108,95}

10. The	common	multiples	of	8	,	10	and	4	=
(i) {40,80,120,257} (ii) {40,120,160,223} (iii) {40,80,120,141} (iv) {40,80,120,160}

(v) {80,120,160,129}

11. The	common	multiples	of	7	and	5	=
(i) {35,105,140,175,64} (ii) {35,105,140,175,55} (iii) {35,70,105,175,148} (iv) {35,70,105,140,175}

(v) {35,70,105,175,151}

12. The	common	multiples	of	6	,	8	and	4	=
(i) {24,48,72,96,144,127} (ii) {24,72,96,120,144,137} (iii) {24,72,96,120,144,255}

(iv) {24,48,72,96,144,77} (v) {24,48,72,96,120,144}
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